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: INSTRUCTIONS :

All questions in the Test are multiple choice questions.

Each question carries one mark, with four alternatives out of which one answer is
correct.

There will be no negative marking.
Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

Mark your response only at the appropriate space against the number corresponding to
the question while answering on the OMR Response Sheet.

Marking more than one response shall be treated as wrong response.

Mark your response by completely darkening the relevant oval. The Mark should be
dark and the oval should be completely filled.

Use of calculator, Mobile is strictly prohibited and use of these shall lead to
disqualification.

The candidate MUST remove the last Carbon copy (Candidate’s copy) of OMR after
completion of Test.

The questmn paper will be both in English & Punjabi. In case of any doubt, English
version will be taken as final.
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1. - The organ which produce insulin is

(a) Gall bladder (b)- Liver :
¢) Pancreas B (d) Pituitary gland
frodt feandls der a9et 3 :
@ filr | ®) frio )
(c) uDd et (d) fora Is= fat
2.  Amphiarthrosis is _
(a) Freely movable joint (b) Slightly movable joint
:c) Irnmgvabl% joint (d) Synovial joint
(a) FEIT IHEHIS 73 | M) &= fao aeHs
(c) foftdts vz @) ez
3.  The hormone that control the growth of body is called
(a) Thyrotrophic hormone (b) Somatotrophic hormone
(c) _ Gonadotrophic hormone . . _(d Noneof these
aaHs fros i rdte @ feam & fouizfos smer 3, ao@er 3
(a) H’f?ah § orfeat JdHa (b) W'Ea'f%? g9HE
(c) dJaSTiex THE (d) feost 9 &t &t
4.  The muscle involved in the flexion of hip known as
(a) Hamstring (b) Quadriceps
(c) Gastrocnemious (d) Trapezius
ge ¢ feem e mriis Adnt wat At
(1) dodtas | (b) TASHBUA
© Infeom -
3. The main abundant single constituent of muscle is
(a) Water {b) .Protein
(¢) _ Inorganic salts (d) (;arbohgdrates
HRUH € fea®sr gg3 finmer S @ iy fuea
@ U - O ¥
(c) WATIET BHA (d) TIETERE
6. The percentage of myosin found in the muscle is 50-55, percentage of actin is
(a) 30%-35% (b) 20%-25%
() 10%-15% d) 15%-20% .
HRUE &8 ug 7 wiieGiis & yAing 3 50-55, watfes & yStmssr d
(a) 30%-35% (b) 20%-25%
(© 10%15% d) 15%-20%
7.  How many times, more energy is released during oxidation process, than released during
anaerobic glycolysis ?
(a) 15 times “(b) 18 times :
(¢) 21 times - d) 12 times , o
frmmer Gawr &3t At | |
(a) 153= (b) 18q=
(cy 21g= d Lz
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10.

11.

12.

13.

14.

The term “reinforcement” is roughly synonymous with the term

(a) Reward (b) Award
(c) Strengthemng (d) Gain
qG5 ‘UEIES Aaos’ X9 g 99 fer mae o & ANeEt 3
(@) yIFarg : () feam
(c) _ qHar d =
Where in the human body are the free O,, hydrogen & nitrogen found ?
(a) Liver & pancreas (b) Blood & intestine
(¢) Lungs & trachea (d) Stomach & intestine
Mt AT 38 nraris, JERHS »i3 arEieHs B39 fol ud A 96
(@) frag o3 uga Jeer (b) Ys M3 nieg
(c) @T3 3 A ) e w3 nieg
In which of the following part of the cardiovascular system is the velocity of blood is the lowest ?
- (a) Arteries (b) Arterioles
(c) Capillaries (d) Vein
WW%%@W@?&U@@F@%?%W%
(@ &g Tt (b)) wH
(c) =T Qft sErt (d A
Which of the following class of drugs is used medically to relive pain and anxlety ?
(a) Barbiturates . - (b) Opiates :
(c) Cocaine (d) _Haliucinogen
Jot fdfamit f&g sHismt eAgnT ©F fagst & erqmmeaem%u%ﬂwﬁynas"raﬁ
Rk Jor g
(a) F9stedeH : (®) ir“rﬁ@gn
(c) dells | @ TEHEHs
The syndesmosis are types of
(a) Slightly movable joints ' (b) Freely movable joints
(c) Immovable joint . (d) Disjoints
fAgtmifaR fegst Shff fardt I
() 53 i mods T (b) B33I IHGHS HF
() IWBdsA3 (d) g2 uzgtdhnft
The major function of the ligament in the body is to
(a) Prevent joint dislocation (b) Reduce friction in the joint
(c) Actaslevers (d) Coordination
Aot &g fagmite & Hu arod 3 | o
(a) A3 T fermaus 3 ggm (b) 73 Koot fog § wega
(¢) fom &t 39t a1 T35 . d) 3IB-A fas@a
Turning the foot so that the sole faces outward is movement called
(a) Eversion (b) Pronation
%c_c)' Inversion (d) Supination
& fen 3gt HaeT fa 3o wg9e9 Ho &9, fougs nrie@et &
(8) UB™A o (b) yTIE
(©) Bstzadm (@) U9 QuedaE
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1.

15. Much of the motor-skill learning takes place during ,
{(a) Puberty (b) Infancy SRR A
(¢) Childhood @ Adolescence SR
Heg-fadasT &t frmmerse frrsret fem Jus Jat d
(a) 7<A€9E (b) TIUT TG
(c) ToUs eI | (d) fEEY nieFE E9%
16. The Achilles tendon is the tapenng part :
(a) Gluteus maximus (b) Gastrocnemious
(©) Quadnceps (d) Hamstring
: o it &% 9T saty fIr
(a) JIBA RSAATHA , (b) JIASIHSHA =
() TnmEItAUA e d dodazo
Any relatively permanent change in behaviours resulting from expenence is popularly known as
(a) Acquisition - (b) Learning _
(c) Conditioning (d) Response
IR € 530 I feeorat ¥Y 3ua3Ha AUTET UT9e9ss By 39 %wf&mrwa
(@) oz T9& ®) fif
(€) "EABI @ yfsfafonr
18. Which of the following has least to do with motivation system ?
(@) Need (b) Drive
(c) Habit (d) Motivate
ﬁ@ﬁﬁnrﬁaﬁn@qmqa-ﬁmmwz%aéa%
(@) YT ' b) 3T
(c) nmM3 . (d) I{S'FI‘UE |
19. A person’s perception of his’her own personality trait is reflected in his
(a) Self-esteem , (b) Self-concept
. {c) Self-efficiency (d) Self-regard
fea foniat S 8T nmi@ feniEise dex w9 gzt seast O 8
(a) Ae-Ws f¥g (b) M3 T f¥g
(c) mRR-Gasr f&g (d) »m3H o &g
20. Which of the following is not one of the big five personality features ?
{a) Submissiveness (b) Agreeableness
(¢) Extraversion (d) Neuroticism
(a) BHIGS | (b) T
(¢) feus uadt () wage
21.  Which of the following is beyond the scope of discussion of health ?
(a) Hygiene _ (b) Disease
(c) Deformity (d) Death
w%@mﬁvﬁwméﬁwﬂ-méwauﬁﬁ
(@) wiga fefamrs ) fardt
(9 T @ ¥3
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22.

23.

24.

25.

26.

27.

28.

Health is primarily a responsibility of the

(a) Community (b) Individual

(¢} State . (d) Parents

fros Je8 39 3 il 9 |

(@ FHA S | : (b) foniedt &t

(© I @ wfisrsd

Which of the following are chemically known as lipids ?

(a) Fat (b) Sugar

(¢) Candies " (d) Amino acids -

Jat fifantt o5 fam 3 “fofimm’ @ 39 I wfawrafer 3 2

(a) T (b) W@

(c) it Signrt (@ rits wfFs

Complete combustion of 1 gm of carbohydrates in the body yleld

(a) 10.4kcal (b) 6.8k.cal

() 42kcal (d 7.6kcal

meg g aan avaaméﬁz T Y6 586 UL Fa9TT J

(a) 10.4k.cal (b) 6.8 k.cal

(c) 42kecal ~ (d) 7.6kcal
Normally human being require carbohydrate, proteins and fats in the proportion of

(@ 4:2:1 (b) 7:2:1

© 3:1:1 . @@ 4:1:1

maasa%ﬁmaavaaafaﬁz qﬂw@aaﬁé’rfanmﬁamaéﬁ

(@ 4:2:1 ) 7:2:1

(¢ 3:1:1 d 4:1:1

Name the type of protein in hemoglobin is '

(a) Hormone (b) Transport

(c) Contractile - (d) Structural

3z fig s & famn & o OR |

(8) TS (b) nrETHTET

(c) Fags ' ) e

An incentive essentially is a

(a) Reward _ : (b) Drive

(¢) Punishment (d) Condition

Ygar MreRs gu &% § R |

(8 Y9 | (b)) FIR

() ¥8 @ T3

The rate/speed at which physical activity is performed is known as

(a) Work load (b) Exercise volume

(¢) Load stimulus (d) Intensity

ga/at fam '3 At fxfanr o fogmr dizr wier 3, 0@ 9 ¢

(a) TIRIFTT (b) TTATS WEFT

(¢) 39 8amae (@ gz ,
| ' 5 Paper-1I (Physical Education)



29.

30.

31

32.

33.

3s.

Frequency of stimulus in loading is called

(a) Viscosity (b) Density
(¢} Connectivity Specificity
gIet g Qarrae & Ftaasr sogd 3 | :
(a) T (b) w3
() Fuar - (d) mmesr
The distance covered in Marathon Race is
(a) - 40.250 km (b) 42.000 km
(c) 42.195km _ (d) 43.200 km
Marathon Race f€9 gdt areg Jet 3 2
(@) 40.250 km (b) 42.000 km
(¢) 42.195km (d) 43.200km
- The spam of transitional period of sports training shoukd be more than
(a) 1to3 weeks ) 2 t0 4 weeks
{c) 4to6weeks 6 to 8 weeks
,Hsﬁwﬁ%waﬁmﬁm%niéuaﬁmﬂﬁ%
@ 13373 (b) 234323
© 43F6Te3 d 638Ie3
Which of the following is not used as yard stick for the selection of a research problem ?
(a) Feasibility - (b) Novelty
(©) Availability (d) Reasonability
g1 mifimr St Sz wEt A ¥ 39 3 ot fafonit 25 farer yGia adt Jar
i (a) FAEEI (b) B<B3T

' (¢) GuSmuzr (d) IIRYI&IT
Individual differences among people exist in
(a) Body and mind (b) Skill and ability
() Thought and actxon ~(d) Al personality variables
Bat &g foriaStes wize Je 75 .
(a) RS w3 fonar &g ) faiszr w3 G &g
(c) FenZanfim d) ~3 fonafzze oo &g
In which sport do md1v1dua1 differences make least impact on learning skills of that sport ?
(a) Archery (b) Soccer .
{(c) Hockey (d) Basketball
hﬂ&sﬁgﬁnﬁﬁwmﬁn&s%mm&ﬁ@mmw@%m ?
(a) Sronfewt | (b) A9

" (¢) Tt (d IFATH
Which of the following reflects the idea that we like people who like us ?

" (a) Stmilarity (b) Reciprocity of feelings
(c) Proximity (d) Social exchange theory

W%Wﬁéha?feaﬁ@aqmw %t»m’r@awaafeaﬁrmféa%m%
T IS 7
(a) AH&3T (b) Fes= T

(0) foaesr (@) AR TTeT o
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36.

37.

3s.

39.

40.

41.

42.

What kind of groups are generally more cohesive ?

(a; lIiargf:] groups (g; Sca;tlfred groups
acial groups ( Smaller groups
1(3:[ &g ¥ AHT i 33 '3 frmrer ffanis 3@ o5
(@) ¥ mMT () fis3 mm
(c) R . d =2 Ay
Personal preferences and tastes developed in childhood are often evaluated in -
(a) Later childhood (b) Adulthood
(¢) Older adolescence = (d) Oldage
mﬁaﬁaﬁﬁwﬁm&aﬁmsﬁv»@wwmmw%
(a) TOUS HIS (b) THS Y
(c) vivzuz & ggr3 ST @ meufs
What has attracted the economists towards sports these days ?
(a) The media (b) Growth of sports industry
(c) _High stakes on athletes ~ (d) Cut-throat competition
WHelS MJERTASSn & Ut <% faRS niereRs o137 9
(a) A9 ATS 3 () B3 8euiaT? fam
(c) <9at'3IBETm 3 (d) IBIE HIES 3

The ICC and the National Cricket Boards are almost solely interested in
(a) taking the game beyond the geographical boundaries of common wealth countries.
(b) playing politics of economics.
(c) TV coverage and the money cricket brings in.
K. interests of the players foremost in mind.
et

TR fyae #93 & 3xdtEs gt 3 fiee
(a) B P THEHE oHF Enff T FUI B A AT Y
(b) MIEAAST o IWEISt usE few
(c) faae oa foniR At Us »i3 3t a=en e
(d) fusdnit 2 o3t 3 farmar iRy uz 9
Which of the following event is not stated in HEPTATHLON (for women) ?

(a) 100 m hurdle (b) High jump

(c) Javelin throw - (d) 100 m sprint

Jot ffamit f&5° faaar €it'e HEPTATHLON (Wig3t &2h) <9 Haaam"ra
(@ 100 mII<e ) Edtesia

(c) 3 He= (d) 100¥H f&at €3

Everywhere and anytune the media is dictating

(a) what events to watch (b) how we watch them

(c) how we remember them (d) us to perform all these three
I3 7 M2 T9 AN Hisr 8% faor d

(a) T3 RzE TS (b) BI5"E ot fad JuE I

(© CuwtinfaRaeduzd (4 st 35w foam ams _
According to rile, the temperature of water in the swimming pool should be around

(@ 26°C ® 27°C

(c) 20°C (d 29°C ‘
m%mme@aﬂ&gu@@mwmﬂvﬁm
(@) 26°C ' ®) 27°C

(¢} 20°C | (@ 29°C
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43. What is the number of hurdle jump in steeple chase ?

(a) 24 b)) 26 o
(c) 28 (d 30 ‘
nif3ar &3 Ry ga<dt enfar & faest f&at &
(a) 24 (b 26
(© 28 d) 30
44. Practice of and perfection in a motor or athletic skill is basically a function of
(a) trial and error process (b) insight process
(c) observation process (d) conditioning process

Hed 1 nedfex IR e mifgna w3 B8R e fodez ved 39 ‘I ens D
(@) rEHTER o3 33 yfaferr e ()  wisT fordt yfafonr o

() u=Zow yfafonr ar (d) s3SI Yfafor o

45. The area of performance for floor exercise in gymnastic should be
(@) 10mx10m b)) I2mx12m
(c) 13mx13m (d 16mx16m
fverfea g mHist 93 @ yoons et 339es da adter
(@ 10mx10m (b) 12mx12m
(c) 13mx13m (d 16mxlém

~46. Which of the followmg elements is contained only in protein ?

(@ Carbon (b) Hydrogen
(c) Nltrogen (d) Oxygen
It fifanit &S faoz BB ime fAs Re ahis Jor 3
(@ > ) TEEAS
() JTERHS . | @) »rarvs

47. The key component of health-related fitnessis .
(a) flexibility (b) muscular strength
(c) cardio-vascular endurance (d) body composition
froz Addt miggusT & Wy wiar 3
() o (b) ufont & rmgst

(¢) foaR s3nit & Foas Bast (d) AR TEE
48. Most personality test used in physicai education are

(a) Mechanical test {b) Physical performance test
(¢) Manipulative test (d) Inventories
At fifumr R 293 Ale frmrerse fandles oy o5
(a) uw3faa ygy - (b) RIS YTIES Uy
(c) TIBYIS UM (d) FBUG=t
49. Strength is the basis of all movements which involve
(a) bones (b) nerves
{c) joints (d) muscles
7% st At sttt & i i I i %9 avss O
(a) TSt () F
() W3 | @ W
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50.

51.

52.

53.

55.

Which of the following conditions are life-threatening ?

(a) Heat radiation (b) _Heat exhaustion
(c) Heat stroke (d) " Heat loss

ot fffanit &9 fomS o3 fies-wsd 75:

(a) 3 fexas (b)) SudEs
CRECER:CC] (@ 3Suf

Men in motion is the focus of attention only in

(a) Kinesiology (b) Bio-mechanics
(¢) Physical education (d) Vigorous recreation -
ISt g vt fors & a9 O fige

() TRfefmsmmzefs () e-Hafsan Re
(c) nII fiifonr fRE _ d) Y% Heugoet e
Hepatitis is an infection of the _ |

(a) stomach - (b) liver

(c) duodenum (d) kidney
Jieréten i Aaerz -

(@) U ) feme

() EAnisdte () FRT

Good muscle tone is highly related to good

(a) Reflex time (b) Movement time
(c) Transmission time (d) Reaction time
HRUHM & Sait firos 3o frmrer Adus O S

(a) yfsfafonr o &% (b) I TS ITH
() FIIs B IS (@) yfsgH % 5%
Name the game which involves 11tt1e “large muscle activity’.

(a) Shooting (b) Taekwondo

(¢©) Chess (d) Archery

Us o & 3 fiin e wifta HEE fafonr e Bnis 3

(a) foR&amt (b) Ifeaes

(c) B3I (d Sronewt
Virtually, physical education is an active - form of

(a) Exercise (b) Aecrobics

(c}) Sport (d) Recreation
Fdtas i foat gu 3 | |
(a) FAII T o (b) wdfaaA &

(c) BT d) WEIHs T

The Indian Olympic Association was formed in

(a) 1927 ) 1952

(© 1937 (d) 1947

Fradt Ofua Bu o fsae aitsr famr /i

(@ 19279 ®) 1952139

(© 1937f3% @ 1947
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57.

58.

59.

61.

62.

63.

The human heart is about the size of a/an

- Paper-1I (Physical Education) 10

(a) Average size apple (b) Hen’segg

(¢} Man’s closed fist (d) Bigalmond

Hol fes s fere varg @ ger B '

(a) xRz w9 & Ay (b) Ml T niiEr

(c) vt & de it (@) fexx 37 5o

The quality of life is directly related to :

(a) The state of one’s health (b)  One’s nutritional status.

(¢) Individual’s mind set (d) Fulfillment of needs

ies S ITT YU Ju sB Afu T _ |

() S fonadt & fros @ rfsft amb) R et 2 Tnfeaz @ o) &5

(¢) fonadt &t feoraura % d) &3 & AzE 55

Name the component of physical fitness that is, more or less, genetically determined.

(a) Flexibility (b) Speed

(c) Strength (d) Body composition
W%wwmmﬁwﬁmﬂawmﬁ‘ﬁmw%

(a) oA (b) Tt

() =% (d) w=dex gs3g

There is no muscle contraction during . ' '

(a)  Isotonic workouts (b) Ballistic exercises

{c) Isometric exercises (d) Isokinetic bursts

fen 898 HROEM T Bags &t Jer J:

(a) nrEtRefsx arant ) Tfsafex RT3t ET%

(c) rEtRTfsa ISt (d) wERaEdfex 201

Which of the following don’t constitute aerobics 7

(a) Rhythmic exercises (b) Cycling

(c) Calisthenics - {d) Yogzc practices

It fifantt o' fam Fo N3fam ol adt

(a) IBYI5 TAT3 (b) FEtfE

(c) ISl IATI (d) Gar mifsmR

Philosophy of physical education is said to be

(a) Elective (b) Eclectic

(c) Selective 7 (d) Imperative

AJteR fitfemr &t fowmet 3

(a) oI ®) fogefoz

(c) =zI&3fim | () ifs-nreE

The effect of sports and training varies with the

() Weather and season (b) Stage of maturation

(c) Peoples and places ' (d) Child’s educability

g8t ni2 Tt = Yo ufseafss Jer 9

(a) T&IG w3 HAH 5% ) ufelasT 2 dog 55

(¢ & nB FES &5 (d) &9 <t fhfinr Gasr 5%



65.

67.

69.

70.

A person’s posture is most influenced by his

(a) Movement habits (b) Home environment
{¢) Lifestyle (d) Nutritional status |
ﬁamﬁﬁﬂﬂﬁmﬂayﬁ»@waﬁﬁ%
(a) foo= g@= S et 3 () UIB HIS 3
(c) vi<s AEt 3 . (d umsdws
What holds key position for weight control ?
(a) Recreational sport (b) Physical activity
(c) Dieting (d)  Eating habits
319 fouizds &9 Wy o famd yuz 3 '
(a) HRUTTRS BF (b) FIeR fafen
() ¥IH ArM : _ (d) uEmest
How many times do our kidneys filter blood in the body each hour ? .
(a Once (b) Twice
(¢) Thrice (d) Four times
A3 g9 Adtg 99 ya § 99 uie fddt @8 yse 95 ¢
(a) fea e | | by =TI
(¢ f3szw _ (d TITY
Rabbis is an active highly fatal infection of the
(a)  cerebrum | (b) autonomic nervous system
(c) spinal cord (d) central nervous system
I a0 593 w3 AdaHE 3 .
(a) fewaror (b)) FRUSSIA YO T
() T IS T (d) T sAYET T
Physical exercise done in the presence of oxygen is called
(a) Aerobic (b) Anaerobic
(c) Isometnc - (d) Isokinetic
TS af d'e f&g A5t A7 oo Adtea ares aoet 9
(@) T aAes b) vondfaE
(9 nretitefex @) wEtRaEdfes
Thereis a possibility for a AIDS’s-patient to live for a few
‘(a) hours : (b) days
(c) months (d) years
fiiz 257 HIW et Gz & Hees gt J B
(8) ui . b fes
(c) HIB d 7S
The length of trachea (windpipe) in an adult person is about
{(a 20cm (b) 15cm
(c) 10cm d Scm
¥ T foars ¥ Ao a@t & Saret get ¥ &I
(@ 20cm () 15cm

(¢ 10cm (d Scm
‘ 11 Paper-II (Physical Education)



71.

72.

73.

4.

75.

76.

77.

The numbser of muscle-pairs, found in the human body is

(@ 200 (b) 250

(c) 300 | 350

Hadt At fRe we wie WRlELr 2 Frfanff o faest O

(a 200 (b) 250

(¢) 300 (d) - 350

Which of the following are involved in injuries called “sprains” ?

(a) Bones (b) Tendons

(c) Ligaments (d) Blood vessels
‘HY’ FT8E TF e fou ot fefanf fod & Aivs Jer D

(@) TSt ®b) U

(c) Una 33 @) ux It T

In India, the school health services started in

(a 19499 (b) 1969

(o 1962 (d) 1968

393 9 Ags o3 et & g3 &gt aist At

(@ 1949 fg . (b) 1909f¥%

() 1962 d)y 19683

The contractile elements of the muscles fibers are called

(a) Spindles (b) Myofibrils

(c) Myofilaments (d) Contractile proteins

HHRUH @ STt @ Aafes vin I08R 75 |

() Afis® ) HieBfeafss

(c) HfeBfemnz (d) eITeEs Ut

Which of the following kind of trammg is considered excellent for bringing about body
conditioning ? ,

(a) Interval trammg : (b) Circuit training

(c) Weight training (d) High altitude training

AR nigges3T o8z w2t It fefnit &5 fxa3 397 & finusret AoesH iRt At D 2
(a) Hftmitzg et (b) =HEY fAueet

(¢) 3 et (@) €53 fsEt

Dislocations occur most commonly in such Sport as
- (a) Cycling (b) Diving

(c) Archery (d) Gymnastics

st e feﬂETuﬁ nifrdtott 83t fdg 3 Wy O

(a) FAEBa | (b) SEfda

(c) Frowterit | (@ femfea

Complex cérbohydratm are not found in

(a) Fruits {b) Rice

(c) Pasta (d) Breads

Ales aogaretge fer &g &t fiise

(@ 5 b v=5

(c) umsr @ g
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ES - Y e
Dar e - g s - - N - P



78.

79.

80.

81.

82.

The saddle joint in the human body is in the
(a) Toe of the foot (b) Little finger

(c) Wrist () Thumb :
o Fte g adt v3 9 '

@ Gmwn»3lg () B Qe

(c) ot , ) rigs
Hyperextension occurs when the extension is beyond

(a) 60 degree (b) 90 degree

(c) 12Qdegree L - (d) 180 degree
Fegyrg @ JT IR YAI I ¢ <

(a) 60 fEardt 3 ug (b) 90 fEardt 3 ud
(¢) 120f5at 3 U @ 180f5adH T ug
Newton’s laws of motion better exemplify :

(a) Kinetics (b) Kinematics

¢) Kinesthetic ' (d) Kinesis

8 oot o o fosR Qe ey

(@) oSt fefoms (b) ISt AEG

() fadrfex St (@ fRfmd

Name the types of muscles which contract when the body is in motion.
(a) Neutralizers (b) Antagonists

(c) Stabilizers (d) Agonists
mﬁnﬂﬁ%m?wﬁmﬁ_mmﬁﬁawa?ﬁmmm
(a) foo | (b) festit

(c) AiET TI& IHA @) e

In terms of biomechanics, gravity is what causes our

(a) Weight (b) Stability

(c¢) Equilibrium (d) Volume

e Hfoan @ AEet f¥9 niaeRs Fast 83 9 7 A L
(1) FTEATE I (b) Hﬁaaerma
(c).ﬁgmwavaa?r_ (d) wEssE &96 9
The class one lever is built for .

(a) Speed (b) Equilibrium

(c) Strength (d) Range of motion
A-fex drea garfonr famr 3 |

(a) It EE b) HIBS BE

() oL @) TS feras et
If the tennis stroke is a “cut” or a chop, the ball will

(a) Drop (b) Bounce

(c) Spin ' . (d) Rebound

A5g ofen AeSR ‘&’ W ‘B’ I,

(a) 33l - (b SeE

(c) uinatt | (@) Bururat
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85.

87.

90.

9.

Lordosis can be found in

Paper-11 (Physical Education) 14
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(a) Infants and children : (b)  Adult men and women
c) Old le d) All age grou
(c) __Old peop ) ( _ ge groups |
(a) T o3 Sfonr &g (b) T nrEHtt M3 Nzt g
(¢ smoasaifdg d) TIHTeBa g
The running at slow speed, the contact of the foot used is
(a) Partial - (b) Complete
(¢) Absent (d) Undetermined
Ut gt '3 E% '3 293 e 9 v daus | :
() niE 3 ' ® Ayssd
(© =3 @) nfsafos 3
Most muscles that move the hip joint originate from the
(@) Abdomen (b) Spinal column
(c) Sacrum : (d) Pelvis
fmrersa wRlEt 7 f 98 @ 72 & fa@dnf o, mg Jonrt o
(a uUefH : () Tz T E am
() RAByARIART (@) IshriF
Our hands generally get contaminated with
(a) bacteria (b) soil and dirt
(¢c) grease and oil ' (d) chemicais
A3 Janm3g ez dad os ,
(a)  BFANIor 5% ®) & »2 diwt avm
() I3 ITFH _ (@ arfest &5
Another name effleurage massage is o
(a) Pressurizing ' (b) Bunting
¢) Slicing (d) Stroking
HA™H &7 38 &M I
(a) OEIETar ‘ , (b) sféar
(c) FeEHHS (d) RSfdar
Technically speaking, friction is similar to
(8 Hacking (b) Rolling
- (¢) Strokin : (d) Thumbing
I 1%3 T3 A Y |
(@ FAwpd ® fas?
() uwde® (d TEmie
Flexion takes place around
(a) ball & socket joint (b) synovial joint
;c) hinge %oint (d) gliding joint
Jer it :
(a) %3 AET A3 o ®) FEds 73 e
(©) fiA 77 ond - @ TS A7 TS



92.

93.

94,

9s.

9.

97.

Bile is stored in- SR
(8) spleen ..(b) kidney

(c) skin (d) gall bladder
FES Ay g Y
(@ It o I e
- (¢) oHSI e | @ fi3fe
Which of the following eatables are enemies of teeth ?
(a) . Bakery products (b) Nuts & fruits S
(¢) Bonymeat (d) Chewing gums & chocolates
(a) I YE9E b ARNM3ITH
() TstTw e (@) IfEIH w3 TS
' A forward upwards movement of the foot at the ankle joint is
(a) Planter flexion (b) Dorsi flexion
(c¢) Inversion (d) Eversion
U9 2 fi2 2 53 3 vdsR-Gue WIS I
() METAT T ) flsdt2w
(c) =t (d) uSBE
For strength dominating sported, the diet should be rich in
(a) carbohydrates (b) vitamins
(c) minerals (d) protein
=% YU 37 ¥, 37s g9y J& adter 3
(@ ST & by feohie e
(c) ufent &8 @ YdsfE
In case of sprain the immediate treatment recommended is
(a) hydrotherapy ' (b) cryotherapy
© heat-therapy (d) None of the above
e @ w3 g, frafar disr ater 393 femm &
(a) vSMEfaEA ®) Ffeednt
(¢) 3 fofazm | @ Gudas FEt &
The term dead ball is used in .
(a) handball (b) tennis
(c) table tennis (d) cricket
Foe ‘33 ¥ <9f3nr wRr Y
(@ JIsaw ®) 2fonfd
(¢c) 2uw 2fen &8 @ fae s

98.

Who among the following declare the Olympic Games closed ?
(@) Chairman 1.0.C : - (b) President .O.C

(¢) Secretary 1.0.C ' d) Prime Minister of the Country
ot fifanit f&T" d= Bafum vst &t < uFET aJer 3

(a) lOCT s - (b) IloCcT yrtde

(c) 10CT Ha3d (d) H T yus {3

15 Paper-11 (Physical Education) .

»



99. In which year were the Ancient Olympic Games banned ? x

(a) 396 AD {b) 394AD
(©) 296AD (d). 334AD B
Ugreal Qafum B8t 3 Uit fom s 9 ssaft i
(a) 396 AD (b) 394AD
(c) 296 AD - (d) 334AD
100. The word ‘Athlete’ originated in
(@ Rome (b) Greece
(¢) China (d) India
mEdle Aae & @3yt oSt At
@ R - HAfe
() Tsfm d) zI3REe
101. In which Olympics did women participate for the first time ? -
' (a) 1896 Athens (b) 1900 Paris
(c) 1920 Antwerp (d) none of the above
foostnr @afua B3t ¥ Wigst 3 ufast =g T feor At
(@) 1896 &EHaH - . (b) 1900 OfaR
(© 1920 eIy (d) ©uSa3 FLt &t
102, Height of the Volleyball net for women is
(a) 221 mts ' (b) 2.22mts
(¢) 2.25mts (d 2.26mts
Hiowt Zet odftas 3z & @oet D - o
(a) 221 mts - (b) 2.22mts
(c) 2.25mts (d) 2.26 mts
103. Itg weightlifting competition the increase in wenght between two attempts must not be less
(a;m 25kg (b) Ske
(c) 10kg (d) 2kg
mmq&w@yﬁ‘aemﬁa@a% wﬁnzwzaﬁl'aﬁre@v&
(@) 25kg {(b) Skg
(¢ 10kg d) 2kg
104. To take penalty stroke in Hockey, any skill can be used except
ga; push gbg lf'lhtCk
c i : _
feau%aérﬂzaaz’%zwsé‘r ferd d=a fan & St & Yt a3 & Faer D o
(a) da=r (b) S
(c) HI-I2 (d) HI&
105. ‘Roverse Cup’ is assoctated w1th the game of
(a) Football (b) Volleyball
(¢) Hocke (d) Kabaddi
‘Jeon U’ fren H3 &% RSU3 O -
(@) € - (b) THTH
(o) T : (@ @St
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106.

107.

108.

109.

110.

111.

Which of the following Universities won the MAKA Trophy for the maximum number of
times ? SR .

(a) - Punjab University | (b) Delhi University
(¢) -Guru Nanak Dev University (d) Calicut University .
Jot fifanit 4T forast gateatindt 3 ™nrmi 2ofdt s 3 W e AT
(a) Uwg gEteahe ) feft gdeehid -
(c) TP 55 2T GaresH () THee FareIfm
How many times has India won the Hockey gold medal in Olympics ?
(a) 7 times (b) 8times '
(¢) 6Gtimes - _ (d) 9times
93 3 Gafua st T ot dms Nas 1At g fifanr 3
(@ 799 ) 8¥9
) 69 @ 9¥9
Which country won the final of ICC World Cup 2015 ?
(a) Australia (b) England
(¢) India _ (d) New Zealand
ICC feme Ju 2015 fam 87 3 fiffanr
(a) PEBT | | ©) FEads
() ¥ . @) feB@s
In Volleyball, the distance of the attack line from centre line is
(a) one meter , (b) two meters
{c) three meters (d) five meters
TS g M R AW EHY
(a) f¥aies , (b T HE
© fBawes . @ unHes
Shortest training cycle in a sports is knownas
(a) micro cycle _ (b) macrocycle -
(¢) mesocycle ~ (d) None of the above
fox 4 f¥9 A8 I 82 2fSa Jag e 9
@ TuH IS | ) fers I
() WAJdam (@ a3 & &
In which game pressure training method was first used ?

- (@) Hockey () Football

(¢) Vollybail (d) Basketball

e Prret fedt ufielt T fam s RS yoiar ot et
(@ et ®) TS
() THIS . (d) THITHS
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112.

113.

114,

115.

116.

117.

118.

Which of the following is animal fat ? g
(a) Egg (b) Almond
(c) Meat (d) Milk
It fefonit &9 fooft maeg gast
(a) w3 b) TEH
() He d <u
The major function of insulin is to
(a) transport food stuff (b) keep blood thin
(c) regulate blood sugar (d) convert glucose into glycogen
RIS T HY &H 3
- (a) 3 YTEE T TT% F9aT ®) Y53 U duzr
(c) =83 JN § fotizgs a9 (d) TIAH § IS oo ufgeass agar
Sports top form depends on ' '
(a) training (b) psychological limits
(c) diet (d) equipments
s &t G5 goN faggg aaet D : _
(@ 2féa3 (b) vl At '3
() mag'3 - (d) AWANS 3
.Which factors affect pace of recovery ? .
(a) Nature of load (b) Health and physical fitness
(c) Sleep ' (d) - All of the above
nidersT < it § fxad 33 ygres a9 96 -
(@) wEmr &t yfrash ® 3 w3 e fezdn
(¢ 3e (d) €SIz A
The factor which is not considered as a component of trainin g load is
(a) intensity - (b) volume
(c) density , (d) diet
33 far § fineset 319 o (dar & ifoor 7o 3
@ Stagsr (b nifess
(c) u=3r (d) nrag
In most cases of Obesity, is the reason of -
(a) eating junk food (b) doing no exercise
(c) _ nibbling between meals (d) excessive eating
He € fmfersg At g, ez 3
(a) T gS umar (b) AT B AT
(c) It fegarg wiw gfuer (d) =g
The disease called conjunctivitis is a disease of the
(a) lungs (b) cye
{c) spleen (d) trachea
Srfoteton a0 T G Y :
(a) ufswier (b) whgtEr :
c) fz&te . (d) "I FEter
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119.

120.

121.

122.

123.

124.

128.

Where do the nails grow from in our body ?

(a) Muscle (b) Bone
(c) Skin (d) Cartilage
73 Aate ¥ &g f&a @En% IS
(@) HAUFMW 3 b)) T3
© =F3T d BIFHRIT
Which of the following game does not provide time-out during play ?
(a) Volleyball ' " (b) Football '
(c)- Handball (d) Basketball
ﬁa%@mﬁ%ﬁaﬁﬁn%%mz@nm@zmwm
(a) THES ®) TES
(c) ITH (d) THICTH
Aim of sports training is |
(a) Physical fitness - (b) Technical skill
(c) Tactical efficiency (d) All the above
ug st T @er 3 -
(a) WIS fehm (b) SIS ARG
(c) TISNTS IS (d SuFIE A9
The size of the badminton court in doubles is
(@) 44fx20ft (b) 40ftx20f
(€ 44ftx 18 ft (d) None of these
Tofanit f¥g ¥3hiles aee o mad Jor .
(a) 44ftx20ft . (b) 40ftx20ft
© HMfix18ft (D frgsr fog & ot
How many time-out are allowed in a football match ?
@ 2 () 3
) 1 . (d) None
g fg i3 =i me 3 T8
@ 2 ® 3
© 1 (@) = ad
Principles of overloading is that
(a) Load should be maximum (b) According to the capacity of athlete
gc) Load shg&t;bg r%tr)re than optimal (d) According to the body weight '
o

(a) 39 wiftlesH J= Irdter 3 (b) wiERie & RHIET nigAg Jer 3

(©) WEIE3H &% ¥ g9 J& FIeT I (d) Flg 379 @ nigAe g &

Acoording to principle of specificity of load a cyclist should do

Eag vt;elght training (:3 ﬁ ;]llmlg 4

c ometric ' igh altitude training
EFF én(‘azs'r frais nigre e g gt 3

(a) 9 et - (b) wél'o'ws THeT

(c) usTeRitefa ) 89 -neEw frasret
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126. Smashing in volleyball is also known as
(a) hftmg ‘ ' (b) spiking
(c) servicin ~ (d) blocking
oS g :hr-r feg @ @ d
(a) foeféa (b) mrfEa
(c) mafeffmr - (@) =Effda
127. Which of the followmg phx]osophles of physical education is known as Expenmentanon ?
(a) Existentialism (b) Realism
(c) Pragmatism : (d) Eclectxcnsm
Aated Tt St 3at fifar o8 faodt feomdt Yoot o€t D
() wASR Ie (b) nFS T
(c) feegmTw (d) Boofoz e
128. International Olympic Committee was formed in
(a) 1894 (b) 189
() 776BC | @ 1952
nisgaHed Gdfud INST T a5 Jfemr HY
(a) 18941 ®) 1896 fFg
(0 776B.C &9 _ d "1952f¥%
129. The fastest period of growth in human beings is
(a) Childhood (b) Adolescence
(c) Infancy (d) Puberty
waut 9 fearm o A 3 3 s D |
(a) TOUS () faEg weRw
() TBUE , - (d) T
130. Tiger Woods is related
- (a) billiards (b) polo
(©) golf (d) chess
TS HEUS J |
(a) fadigs &5 . (b)) UBEH
(c) dive 5 () mEENEn
131. Lack of fitness can cause . _
(a; loss (if fluid 8; :i;ss olf weight
¢)  muscle cram eeplessness
Eil aag% A &
(@) TES () I uzE
() MW T nigEm @ »retew
132. 1 Asian Games were held at
(a) New Delhi ' - (b) Bangkok
(c) Lahore (d) Beijing
EHiE ust JEntt AG
(a) & fodt feu - () Yamfe
(© ®few (@) Pfda fed .
Paper-11 (Physical Education) 20 _ A



133.

134.

135.

136.

137.

138.

139.

2016 Olympic Games will be held at
(a) New York (b) . Athens - ©
(c) Seoul . {d) RiodeJanerio
2016 GSEfum ast JEdfind S
(@) foGurax fed () 2usd fe
(c) T8 fen S (@ 98 Azt fer
N.LS was established in
(@) 1957 . | (b) 1961
(c) 1962 - (d) 1964
NIS & AEsT I8t At
(@) 1957f%% ) 1961 %%
() 19621 ' @ 1964 %9
All India Council of Sports was formed in
(a) 1954 (b) 1953
(©) 1952 (@ 1951
nis fetor @ fivs nie AUGER & 6% Jfen A
(@) 1954fS% ' (b 1953
(© 195219 @ 1951
The body which controls partncnpatlon of India in Olympic Games is
(@ S.Al (b) LO.A
(¢ 10C A.AF.I
ﬁwﬁaﬁ@wﬁﬁﬂyﬁamﬁﬁﬁ@ﬁaﬁ%ﬁ?ﬁzaﬁa
(@) S.Al (b) 1OA
(¢) LOC  (d) A.AFI
In Russia terminology physical education is better known as
(a) Kinesiology (b) Physical culture
(c) Movement education _ (d) Physical training
R f¥9 peerest Rdtaw fhftmm § Arfenr wier 3
(a) TomfBsH o) feilies a&sgd
(c) HINES PTaRs @) feritems 8o
Physical activity is basicallya
(a) Social attribute (b) Psychological tendency
(c) Bnologlcal necessn'!ﬂa - (d) Philosophical concept.
(a) FHVR EI_TE J (b) vafefaprmse yfeast 3
(c) e fefomrsx 3 3 . (@) TRfsa Ty
Which one of the following is no major domain of physical education ?
(a) Research (b) Instruction
(¢} Teaching skill (d) Ins ection
It fefanii o9 foom Adtaar fifepir &7 Hy o7 LT
(@ @9 () fsaem
(c) niftrmus felss (@ fadhuz’
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140,

141.

142.

143.

144.

The earliest term used for management was

(8)  administration - - " '(b) organization - v
(¢) coordination - d) direction
ydus Bt A8 37 ufosT yGiar 3T A @ e 3
(@) YAES - (b)" FHiss
() fimseass - @ fomr fsoem
The factors affecting physical fitness are’
(a) Anatomical factors (b) Physiological factors
() Psychological factors (@) All of the above ‘
MSIUST & YB3 I35 TR II TS ;
() A9 TE3T I3 ) Fdga fafanr dddt I3
(c) Hafefommas I3 (@ Sudas Fw
What of the following playing surfaces is easy to maintain ?
- (a) Concrete (b) Natural
(¢) Turfed - (d) Synthetic
It fefant 39 fxa3 O3 s & A a9t s D
(a) dadt (®b) oot
) waTH () fhafex
The total work done in a training session is termed as
(@) Volume. (b) Intensity
(c) Frequency (d) Density
et Fes 39 oi3T famr o a1 aorger 9 |
(a) nrfEss (b)) yEss
(© Fmez @ w=zr
Who is the first person which explains the sensory method in sports ?
(a) Jorden (b) Best
(c} Smith ' (d) " Zaciorskijj
ot feg reea fadt & fourfunr aws @ar uftesr fenierst 3 3
(a) 795 ®) ¥re -
(c) Afiw @) AfsoraRfaa

145.

In order to make intramural programme really interesting and worthwhile, it would be apt to
(8 Induct new equipment ' ' L

(b) Build permanent infrastructure

(¢) Invent new fun/recreational games

(d) Infuse intense spirit in the participants _

&9 et niedd Yoo § forfes gu R fosamy w3 8oz 5= &8, yome Jar
(2) 3% AE gy 98 B

(b) FEE v HedE T fsanE

(c) &Mt d3a/ HEUTE=R B Tt U 945t

(@) 391 3z wlont &9 Stag ges o Hovg ags
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146.

147.

148,

149.

150.

The spectrum of activity competition at the elementary level of educat:on must be more

(a) formal (b) informal
(c) neither formal nor informal (d) . organized

fiffimr @ Midgii gt Uue ’ammam@wmam
(@) fesow= ' b) ¥ feoa

(© o feeoraa m3 & Ot 39 feedax (d) Hed3
Which game initially was called “Mentonet” ?

(a) Badminton (b) Basketball

(¢) Baseball (d) Bull-fighting

faast 88 & mgmr3 R « Aede” foor v At

(@) ¥sfifes (b)) TS

(c) RIS @) FEER |

Which of the following activities may be difficult to teach in mass ?
(3 Gymnastics ~ (b) Setdrills

(¢) Drill & marching (d) Yogaasana

Jot ffanit &5 foraet fafonr 3 3t e u=z 8@ wiur § Reer 3

(@) frvemie . by fFEaes

(© fg5 3 wafda (d) G WA

Transition period aims at _

(a) Stabilization of performance (b) - Super compensation

(c) Recovery (d) Recreation

ufgeess a5 T H3e J | '

(8) YTIAS I AfaTsr (b) Y IS

(¢ ydIyust @ wadns

Acquisition of specialized sports skills lead the students to
(a) Perform movements skillfully
(b) Become good players

- (c) Develop into specialists

(d) = Do things economically
W%Wﬁwﬂﬁh@aww@ﬁ%

(a) mé}wgﬁsuwmqmaaﬁﬁe
) < fust sz feg

(¢) wfogede3fmafisdzfe '

@ et 3 fam &3 98 99
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